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MATH 90 Common Final Fall 2009

Show all work, step by step.

As appropriate write the formula that you are using for each problem.

1. Find the x-intercept, find the y-intercept, and graph the equation: 5x + 6y = 30.

x-intercept:

y-intercept:

2. Solve the system of equation:
-bx + 4y =-28
-3x -2y =-22
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3. Factor by grouping:  x3 4+ 6x2 + 4x + 24

4. The area rectangle shown is 56 in2. Find the length and the width of the rectangle.

4.

x+7

2%X+5

3of6



x —2x 2x-3
5. Solve the equation: = +

2x+2 - 4x+4 x+1

6. Solve the equation: Vx +7 + 5 = x

4 of 6




7. Solve the equation: 5x2% + 8x = —1

8. Sketch the graph of the parabola by clearly showing the vertex and the x and y-
ifany: y = (x +2)2 -5

intercepts
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9. Aprojectile is thrown upward so that its distance (in feet) above the ground after ¢

secondsisgiven by: h(t) = —12t2 + 456 ¢,
What is the maximum height?

1
10. Solve: lngg = E

10.

bofs
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For this multiple choice part of the test, ANSWET O the scantron

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question,

Use the order of operations to simplify the expression.

1) =8C7)- (55
-9-Af25+6
7795 295 1875 1875
A) 2 B) 1 C) - 5 D) - -
Solve the formula for the specified variable.
2) F=-§—C+32 for C
5. - _E-32 =2
A) C=5(F -32) B)C=g—ss QC=— D) C=+(F~32)

Solve the equation.
3) |4m+5|=6

o8 efl w1y

Solve the problem.
4) Find f(-1) when f(x) = 3x2 + 5x + 6.
A)-8 B) 14 G2 D)4

5) Find g(a - 1) when g(x) =—é-x 2.

1 a-9 a+9 1
A)—§a+2 B) 5 Q) 5 D)-ga—S
Find an equation of the line passing through the two points. Write the equation in standard form.
6) (-2,-6)and (-7, 0)
A)dx-T7y=28 B) 6x + by =-42 C) -4x+7y=28 D) -6x 4 5y =42

Find an equation of the line satisfying the conditions. Write the equation in slope-intercept form.
7) Through (-3, 8); perpendicular to -3x + 4y = -23
41 3. .23

A)y=%x+T B)y=—zx+T C)y=-§x+12 D)y:-—g-x+4



+  Solve the problem.

8) A cabin cruiser travels 20 miles in the same time that a power boat travels 40 miles. The cruiser travels 5 mph
slower than the power boat. Find the speed of each boat.

A) Power boat: 10 mph; cabin cruiser: 5 mph

B) Power boat: 20 mph; cabin cruiser: 15 mph

C) Power boat: 15 mph; cabin cruiser: 10 mph

D) Cannot be determined without more information

Solve the inequality. Give the solution set in both interval and graph forms.
9) 21<ba+4=-1

e L1
=T T L3

7-6-5432-101234568

W

]

A) (-5,-11 - B) [-5, -1]
-7 6 -g 432101234567 76543210 1234567
C) ("51 "1) D) [_5: _1)
bt — et b 3
7-6-3-4-3-2710123 4567 7-6-5-43-2°1012343567

Find the domain of the rational function.

X=-1
1) =775

A) {xlx:—%l} B) (-, @) ) {xlx=§} D) {xm_g}

Add or subtract as indicated. Write the answer in lowest terms.
11 X _ 4
x2-16 x2+5x+4

)x2—3x+16
(x~4)(x+4)

x2 -3x+16
) = B)x + B)(x+ 1)

) x2-3
(x-4)(x+4)(x+1)
x2 +3x + 16
D) (x-4)(x+H(x+1)

Perform the indicated operation and express in lowest terms.
k2 +10k+16 k2 +5k

12 .
)k2+13k+40 k2-2k-8
1 k k kZ + 5k
— B) —— C)——>— D
Mg )ia ')k2+13k+40 )2
Solve the equation,
2v+3 3
13y 2
y 2
A) {3} B) {~6) Q) {0} D) {8}



+  Simplify the expression involving rational exponents.
INE: -1/2
36

PRE

5 s 2
6

B) Not 1 b C =
) Not a real number )5 D)72

Multiply, then simplify the product. Assume that all variables represent positive real numbers. ‘
15) (2 - 54f3)?
A)4-253 B) 4 + 25f3 C) 79 - 2043 D) 79 + 2043

Identify the vertex of fhe given parabola.
16) f(x) = —(x + 1)2 - 2 :
A)(-1,-2) B) (1,-2) Cr(,2) - D)(-L,2)

Solve the equation.
17} x4 -8x2-9=0

A){3,-3,1,-1) B) {3, -3, i, -i} Q) 31, -3i, i, -i} D) {1, -1, 3, -3i}
1
X =
18) 2 3
A B) {-3 - Q) =
)% AT )43 D) {3}
Write in logarithmic form.
19) 63 =216
A) log g 6=3 B) log 3 =216 &) lt:vg3 216=6 D) 1056 216=3

Rewrite the given expression as a single logarithm. Assume that all variables are defined in such a way that variable
expressions are positive and bases are positive numbers not equal to 1.

20) (log,, m~log  n)+6log  k

6
4) logy, 2 B) log,y, £ C) log, 2 D) log,, mkén



SOLUTIONS FINAL EXAM FALL 2009
FREE RESPONSE PART

1) y-intercept (0,5) x-intercept (6,0)

1
Nb/no

L |
-10 -8 6 -4 -2 L

I IENES
LB

-10 C

2) (6,2)

3) (x?2 +4)(x + 6)

4) width 7 in, length 8 in
5)x=3

6) x=9

7){ —4—5\/H' —4+5\/ﬁ}

8) Vertex (-2,-5) Zeros {-2—\/5, -2+\/§}

10

8
6
4
2

-10 -8 -6 -2

| L L L N B

-10

9) 4332 ft.

10) 81



MULTIPLE CHOICE

10.D

11.C

12.B

13.B

14.C

15.C

16. A

17.B

18.B

19.D

20.C





